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B | K4 0T IN|[ZBx HDCP Fwb || 1B K% oUT IN |#Bx HDCP #w b || 1B |[E% OUT IN |#Bx HDCP =#wk
141 |[E@ EA 45 44 89  18.0 71.0|| 45 fI | \LF $EE 51 50 | 101 24.0 77.0|| 89 fI|FHiL FA 57 55| 112 31.2 80. 8
2 fi | A ERE 47 4 88  16.8 T1.2|| 46 | Kk AR 48 47 95  18.0 77.0|| 90 f| FHE E#t 54 52| 106 25.2 80.8
3 i | K# 18 41 39 80 8.4 71.6 47 i | IR =T 39 38 17 0.0 77.0 91 i |/fg F 48 51 99 18.0 81.0
4 {5 | &% B— 49 49 98 25.2 72.8 48 i | HEH BB 47 53 100 22.8 71.2 92 fi | JIIE REB 53 63 116 34.8 81.2
54 |[FRE #x 47 43 90 16.8 73.2|| 49 1 |48 @ 50 44 94 16.8 77.2|| 93 | FH R 56 53| 109 27.6 81.4
6 4 |ILE FIF 43 40 83 9.6 73.4 50 fiI | Bk & 46 47 93 15.6 77.4 94 I | hFx W= 47 49 96 14. 4 81.6
IR D) 40 43 83 9.6 73.4(| 51 4 [#ak =R 49 43 92 14.4 77.6|| 95 i |iFE % 48 53| 101 19.2 81.8
8 fi|me &8 46 42 88 14.4 73.6|| 52 fI|gAk —= 46 51 97 19.2 77.8|| 96 fi| i RxE 47 48 9%  13.2 81.8
9 fir | JIIR B 44 49 93 19.2 73.8|| 53 fi|fhA = 50 47 97 19.2 77.8|| 97 fz| &% EFT 48 45 93 10.8 82.2
10 437 | {388 Gk 42 44 86  12.0 74.0|| 54 11|58 E4 43 48 91 13.2 77.8|| 98 {4 EA 52 52| 104 21.6 82.4
11 i | /hith = 40 40 80 6.0 74.0 55 i |57 5h 54 48 102 24.0 78.0 99 £ | #H)Il # 46 52 98 15.6 82.4
12 fi | K5 ifE— 42 44 86  12.0 74.0|| 56 fz[:EA A 56 40 96  18.0 78.0|| 100 4z | BEMA =37 54 50 | 104 21.6 82.4
13 fi | K7F & 48 44 92 18.0 74.0|| 57 I [fRA E=E 49 46 95  16.8 78.2| | 101 4 | A & 56 57| 113  30.0 83.0
14 4|8 —A 45 35 80 6.0 74.0 58 {if | fx #nth 51 50 101 22.8 78.2|| 102 4L | K# B— 56 61 117 33.6 83.4
15 fi (LA 2| 4 47 91 16.8 74.2|| 59 i |®mH RK&F 48 41 89  10.8 78.2|| 103 4 |#2@ HE 51 47 98 14.4 83.6
16 fi | B %= 39 40 79 4.8 74.2|| 60 fi|&A& FEik 42 41 83 4.8 78.2|| 104 i | B 18 62 54| 116 32.4 83.6
17 4 | &E %a 40 50 90  15.6 T4.4|| 61 I |ETEF &4 56 44 | 100 21.6 78.4 || 105 fi | /vbk E2EHD 51 46 97  13.2 83.8
18 fi |chif #i 45 51 96  21.6 T4.4|| 62 fr |tEF FIRE 53 47| 100 21.6 78.4|| 106 i | A B 58 54| 112 27.6 84.4
19 fi | &% B 40 38 78 3.6 74.4 63 fi | =M SR 48 51 99 20.4 78.6(| 107 iz | A L n 61 132 36.0 96.0
20 1 | FEiE FE—ED 45 44 89  14.4 74.6|| 64 f|= B 44 49 93 14.4 78.6 IR o
21 i | EF RE 43 39 82 1.2 74.8 65 £ | AL E2Zz 52 58 110 31.2 78.8 ><7;%H#JEH:" (3 5 1M$T)
22 fi | FE &8 48 44 92 16.8 75.2 66 I | ;5K # 46 46 92 13.2 78.8
23 i | B tEE 53 51| 104 28.8 75.2|| 67 fiI| K B 55 49 | 104  25.2 78.8
24 4 |Hif Ex 46 46 92 16.8 75.2|| 68 fi|EiE B 54 55| 109  30.0 79.0
25 i | FfE BEk 4 M 85 9.6 5. 4(| 69 fiI |[/NE m— 50 53| 103 24.0 79.0
26 4 |ER B 45 46 91 15.6 75.4(| 70 I |iEE HE 49 48 97 18.0 79.0
27 fi | Bk E— 50 47 97 21.6 75.4 AR AR 373 53 48 101 21.6 79.4
28 fir |k HE 52 50 | 102 26.4 75.6 || 72 41 |me BHE 44 39 83 3.6 79. 4
29 fi | B FE#E 51 51 102 26. 4 75.6 13 i | FBH &E 48 53 101 21.6 79.4
30 i | Kk B 44 40 84 8.4 75.6(| 74 fr|BmE R® 49 57| 106  26.4 79.6
31 |[EE HiE 46 49 95  19.2 75.8(| 75 fi| kil & 55 51| 106  26.4 79.6
32 fi|EA BE 53 48 | 101  25.2 75.8|| 76 | &AM == 50 56 | 106  26.4 79.6
33 fi|IFA ER 50 51| 101 25.2 75.8(| 77 fr|Bmit & 43 51 94 14.4 79.6
34 fi |BA =£E 47 53| 100 24.0 76.0|| 78 fz|itA Bl 49 50 99 19.2 79.8
35 fi | &5 EZ 42 46 88 12.0 76.0 79 4 |PE A 55 50 105 25.2 79.8
36 i |71 Bk 50 55| 105 28.8 76.2|| 80 fi|EmME HF 51 54| 105 25.2 79.8
37 i | HH % 46 47 93 16.8 76.2 81 fi | &0 ifE— 54 50 104 24.0 80.0
38 fif [AE AL 46 47 93 16.8 76.2|| 82 f|IIT EM 52 46 98 18.0 80.0
39 i | FE &S 49 45 86 9.6 76.4|| 83 i |HmE F= 46 46 92 12.0 80.0
40 i LIl A 43 48 91 14.4 76.6|| 84 I |HmT HRk 49 41 90 9.6 80.4
41 6| 2 54 43 97  20.4 76.6|| 85 fi |HE EE 45 45 90 9.6 80.4
42 i | Bt Fnk 49 47 96  19.2 76.8|| 86 fi |MFH BAELR 51 50 | 101  20.4 80. 6
43 i |ZR &F 52 50 102 25.2 76.8 87 i | K E BA 60 53 113 32.4 80.6
44 4[RO =8B 40 43 83 6.0 77.0|| 88 fi|Fa % 46 43 89 8.4 80. 6
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